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O Mol2AHZE Al 23
456,000 456
O Mol2Ar& & S Xl 1,500,000& 1,500
O FIHEESA OV SRS
2,551,000& 2,551
O CCTv &D| 92,000 @
O Mol =488 Mote3
101,000& 101
O Mo2A &€& SRS
10,000,000& 10,000
O THHHMAMSA NESIAIYE SARZ
6,936,000& 6,936
O THASE2CIAIAE KA2e] S Al
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O CtMHIOHIIE 2 X0
1,000,000,000& 1,000,000
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201 er23 | 19,500 15,390 4,110
= 6,900
= 12,600
01 At2teltl 19,500 15,390 4,110
O Qe =QIHIIAIE FHIAN (34HA)
10,500,000 10,500
=S 4,200
2 6,300
O BIAAE O AIBHRS
9,000,000& 9,000
S 2,700
= 6,300
Ity st w=e 25(=4]) 2,100 0 2,100
= 630
& 420
= 1,050
405 AHaHE = 2,100 0 2,100
= 630
S 420
[Ea 1,050
01 It =S F = 2,100 0 2,100
O plgsith she gsol 93
2,100,000& 2,100
= 630
== 420
[Ea 1,050
ot 2tel 8,298,000 5,233,735 3,064,265
= 442,000
s 2,739,000
== 15,000
o 5,102,000
ot &Hl 1,692,000 2,320,000 628,000
= 442,000
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O stsXZel(Xgstd, AcHA)
150,000, 000& 150,000
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201 er23 | 5,000 5,000
01 At2teltl 4,000 4,000
O «et+=EH| 4,000,000& 4,000
2 ZZ2H| 1,000 1,000 0
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A0 FHI(Z2/ISTE-1SH) (HEAY) 530,000 182,000 408,000
401 Al HIZ S OHbI 590,000 182,000 408,000
01 AlZ2H| 590,000 182,000 408,000
O A6te ZHIALE 340,000,000 340,000
O tdg =EAGHAE Mal=E7A
250,000,000 250,000
St JH==ALE (DI28X1) 24| 50,000 100,000 250,000
401 AlEHIZ 2018 50,000 100,000 250,000
01 Al&H| 50,000 100,000 50,000
O SHEMH==At 24HI(0I2&XI)
50,000,000 50,000
2ot RXE==(E&2)(=4]) 442,000 344,000 98,000
= 442,000
101 @124H| 200,000 80,000 120,000
= 200,000
M ORINZZ2NSE S 200,000 80,000 120,000
O BdZH il LAIMSEIEY
200,000,000 200,000
= 200,000
201 2= 12,000 12,000 0
= 12,000
02 S3=gHl 12,000 12,000 0
O 122 S ot RAES
12,000,000& 12,000
= 12,000
401 AIZHIX S0HH 230,000 252,000 22,000
= 230,000
01 Al&H| 230,000 252,000 22,000
O J2dd8d & 4580t 144
230,000,000 230,000
= 230,000
ol ElNE =4 50,000 60,000 10,000
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401 Al HIZL 2018 50,000 60,000 10,000
01 Al&H| 50,000 60,000 10,000
O ot EINE EH(100HEY)
50,000,000& 50,000
ot SSACHE FHIANG (Z/ZSTE-1E) (HEAL 200,000 0 200,000
2)
401 AIEHIZL SR THY] 200,000 200,000
01 AlZ8| 195,000 195,000
O S S5 FHIAE(Z/2SHE-
= (DICSE=IN3=) 195,000,000 195,000
03 Al 20HHI 5,000 0 5,000
O 84 S A (Z2/aSH &1
S (D EAL) 5,000,000& 5,000
Mo & == 6,606,000 2,913,735 3,692,265
[ 2,739,000
= 15,000
= 3,852,000
Mol S5 = 200,000 200,000 0
401 Al HIZ S 0HbI 200,000 200,000
01 Al&H| 200,000 200,000
O Mol S8 = 200,000,000 200,000
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O THoHRAEXI= EHI(XHA)
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ExHEZE2(ZH]) 30,000 30,000 0
= 15,000
= 15,000
307 elztol & 30,000 30,000 0
= 15,000
Ea 15,000
06 28= 30,000 30,000 0
O Si28= 30,000,000 30,000
=S 15,000
s 15,000
ot H=HMAH At 100,000 50,000 50,000
401 Al HIZL S 0HYI 100,000 50,000 50,000
01 Al&HI 100,000 50,000 50,000
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Rl Mool H =+ EER=E)
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O XN&AZFI| =Xl 18,000,000& 18,000
O XNEDISA wH 20,000,000 20,000
Mol IZEAIE FX2el 10,000 8,735 1,265
201 fer= 3| 10,000 8,735 1,265
® 2=2H| 10,000 8,7% 1,265
O WsHHAZAIZS T2
10,000,000 10,000
FE SHXTF MHATHHAZONA X T HEIMS (ZS) 4,780,000 200,000 4,580,000
s 2,390,000
= 2,390,000
401 Al HIZ 2018 4,780,000 200,000 4,580,000
= 2,390,000
Ea 2,390,000
01 AlZH| 4,568,000 198,560 4,369,440
O &4 dX7 NAMHASEMNEX T §
HIAF (=4]) 4,568,000,000& 4,568,000
[ 2,284,000
s 2,284,000
02 2l 200,000 0 200,000
O &4 dX7 MHAMHAEMNEX T &
HIAFE (=H1) 200,000,000 200,000
= 100,000
o 100,000
03 AlZ = THHI 12,000 1,440 10,560
O &d dX7 NAMHASEMNEX T §
HIARR (2b1) A& CHb
12,000,000& 12,000
[ 6,000
o 6,000
sz NN SEHE 9 500,000 500,000 0
401 AlEHIZL SO 500,000 500,000 0
01 Al&H| 500,000 496,400 3,600
O &=z NNz SEAHE 89
500,000,000& 500,000
2o NEXF TATHHASEME X T FHIAL (ZS) 698,000 0 698,000
[ 349,000
o 349,000
401 Al HIZ R 0HbI 698,000 0 698,000
[ 349,000
o 349,000
01 Al&HI 698,000 0 698,000
O 2k DEXNT MHHAMHASEIMNEX T &
I:Jl/\}%* 698,000,000 698,000
s 349,000
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Rl Mool H =+ EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| 1] = 349,000
nSHF A 5,199,461 4,615,824 583,637
= 44,232
[ 269,000
= 366,061
Ea 4,520,168
WSHMAIEE 4| 280,220 241,000 39,220
= 8,532
= 10,000
= 261,688
WSHHAIEE & HE+ 150,000 150,000 0
401 AIEHIKL =] 150,000 150,000
01 Al&H| 150,000 150,000
O nSAd AMEE |2 (MSS,BES
ZES) 150,000,000 150,000
SOHEHA IRA(SLY) WL & B 75,000 75,000 0
401 AIEHIZL SR 0HYI 75,000 75,000
01 AlZ8| 75,000 75,000
O SOIEHA 52F Aa o DA
60,000,000 60,000
O sO0EHA 528 HII=SXel
5,000,000& 5,000
O sHEHA 528 FAEx
10,000,000& 10,000
SOHEHA sZE ZXE ME & 2= 16,000 16,000
401 AIEHIZ SR HYI 16,000 16,000
01 Al&H| 16,000 16,000
O sO0EHA sZE X8 21
800,000 *107H 2 8,000
O sOE s3& 2 2+
800,000 * 109K 2 8,000
ECEE QHNAIE AXIANE (ZH]) 25,000 0 25,000
== 10,000
o 15,000
401 AIEHIZ SR HYI 25,000 0 25,000
[ 10,000
T 15,000
01 Al&H| 25,000 0 25,000
O 2H2E ANAE(FES, 2ES) £X
5,000,000 *57H 2= 25,000
= 10,000
[Ea 15,000
CE2XYLH |AAFZ l=et RE(=H]) 14,220 0 14,220
= 8,532
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M WEMH M
9. DMEOHMAIME AX (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 5,688
401 AIEHIX 20 14,220 0 14,220
= 8,532
s 5,688
01 AlZ8| 14,220 0 14,220
O E2xHEHI(WSS) |23 &l
237,000 604 A 14,220
= 8,532
s 5,688
Hsnsi 4,711,465 4,233,8% 477,569
= 35,700
= 269,000
= 366,061
o 4,080,704
g RRExs N 1,500,000 1,000,000 500,000
307 @I2to| & 1,500,000 1,000,000 500,000
09 2FSHEXS 1,500,000 1,000,000 500,000
O 24UH SREEI(HA, Al 312)
1,500,000,000& 1,500,000
g2+ A& 52,89%6 9%.,8% 44,000
201 er23 | 19,8%6 19,8% 0
01 At2teltl 16,036 16,036 0
O dit+=3ZH| 7,436
- YA (NSAIIY)
66,0003 * 1174 2:+22] 1,452
- Z2H &Y 7Y 1,384,000& 1,384
- stz g (0N, 32, 18)
100,000& *x35+2% 600
- WSEHE M) GAS HH
5002 *2,0000H 1,000
- NREE 7Y 200, 00021431 800
- SlE| BALY(HAUXSINE, DS
At OlSEEA) 2,000,000& 2,000
- 2g 2 oJs EXNMH
200,000 200
O S8+ 8424 Sl
8,000 x5 +90! 3,600
O 10028Al 0122 M= 5,000,000 5,000
02 S5=2g4l 3,860 3,860 0
O 8832= & HA 3,860,000& 3,860
202 04t 5,000 5,000
01 =LHOHI 5,000 5,000
O Zge+ 92 =3 E7Y|
5,000,000 5,000
207 AR 21,000 65,000 A44,000
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el s usSXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 H1ESHI 21,000 65,000 244,000
O SOEHA DEYXAF B
21,000,000& 21,000
307 gl2to| & 7,000 7,000 0
02 QIZHEAAEE X 7,000 7,000 0
O MM 223 (2HEH) 7,000
- RE2ATE 4,000,000 4,000
- =400 = 3,000,000& 3,000
sHEHA HWEXI(EH]) 893,061 700,000 193,061
= 293,061
Ea 600,000
307 el2to| & 893,061 700,000 193,061
= 293,061
o 600,000
09 2FHHEXS 893,061 700,000 193,061
O GAXSI 2=M HE XS (b=
Lo, AIEMEEl S) 893,061,000 893,061
[ 293,061
T 600,000
SAE SAl 23 HEXIA(2H]) 169,000 169,000 0
= 11,700
[Ea 157,300
301 EtE N = 169,000 169,000 0
= 11,700
o 157,300
14 0Bt 2a3 169,000 169,000 0
O BAl Utz 2d= 169,000,000 169,000
= 11,700
o 157,300
SEE WSS (BAENE/2BS) 170,000 100,000 70,000
s 50,000
== 15,000
o 105,000
301 22N = 170,000 100,000 70,000
= 50,000
= 15,000
o 105,000
14 0Bt 2a3 170,000 100,000 70,000
O 1002 EHAIAFS (BOHE S 30JHOIS)
170,000,000 170,000
[ 50,000
= 15,000
o 105,000
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33 IS
ol HsunsSid (SH9 H2)
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